Identify the
child’s name
using the
classification
key. (record
your steps)

1= A. Superhero costume........... go to 2
B. Not a superhero costume...go to 3
2= A. Skirt with boots.................... goto4
B. Pants with boots.............. Bailey
3= A. Braids.....cccccceeeeevrnrereeeennnn, goto5
B. No braids (visible short hair)...Drew
4= A. Wearing a mask................... Casey
B. NO MasK....coceirevieinvnirreerennn, Jaden
5= A. Red braids (Wig).........ccoeuuu.ee. Jesse

B. Real hair with braids.............. Rory



